Reac
ACT” @ ﬁ (_Jp 7/4 Of £ ”PﬁA/C/ /S /QO(M

7#0{(1
7‘;,7, A'\/C/ 5 7(@;,\1:)” e (“/J(( 261,’\ jC’/n Pf/“ weel .

o

W(" d e C’"T?'ff r{;,’f:‘ fi TS i’."f ) e 3 /.s

/éO cm /‘?MCL/ &S 6%’;&/2: /?@o/(f."’é.‘} Azﬂ

—é(*m {f/?f/' ee b I\,A #( C/@/?THLJ" oF

50/%{ Ufwdj Con%ﬂ(/c‘" To gé, ;f;au/r,ﬁq AT

-f/{efe Co o STANT ZATE »J) /A /ﬂg‘/u"{“ /fx v
/rm,\y' pIceESs Wl /// #e ﬁ)ﬁf\/ﬁ‘*/f A/"’(/f “’é/ﬁ
S /"'ﬂ(' (/«’“* 7”% 7

—— et W) T e ko d = /e 0 4/

= S@Zﬂ :'> o A = 5/7?/?
e /l =
beei d ”[/'7;1?/ “

5
\ ¢ _ . i
AR - T T -+ O

A
PAAE V&j& + Cn

zb

—WWHIH80= M“L%)**/(y()
+uw /o +w -l60

20= 4 o) S / ) =
z




ID: 1

Precalculus - Mr. C. ' Name
Classwork/Homework Tuesday Sept. 22, 2009 Date
Solve each equation by factoring.

1) m*+5m=-4 2) x* =14+ 5x

3) p?+18=-9p 4y n* +5=-6n

5) 2x*=Tx-6 6) 6n* —2=-n

7) 3k -3 =-8k 8) 9a> — 2 =-3a
9) 2x* —3x=-1 10) 3x* =8x+3
11) 3n* +2=-5n 12) 2m* =5m +3
13) 2n* =51 -3 14) 2b* =3 - 7bh
15) 1577 ==11r + 12 16) 3m* =—14m +5
17) 5x* =9 =—12x 18) 3n° =10— 13n

19) 5b% —6=-13b 20) 212 —1=-v
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